ages : 19 B20-GM
Subject coge C2 (EN/AS/BN/BD/HN)

281025

2020

GENERAL MATHEMATICS

Full Marks : 90
Pass Marks : 27

Time : 3 hours

Candidates shall note that each question will be multilingual, viz., in
English/Assamese/Bengali/Bodo/Hindi Medium, for their ready reference. In case of any
discrepancy or confusion in the mediumyversion, the English version will be considered as
the authentic version.

The figures in the margin indicate full marks for the questions.

2
Take ™ = —, wherever necessary.

22
AENSH SPIN ™= —= 3|

22
AR S ™ =~ (T |

, 22
WHW’H’=.7 ol

Wﬁmﬁwa‘fv=3}ﬂ1’{m|
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(2)
SECTION - A/3 - *I4t/ & - =Mt/ - ar@rir/h - HJ

Choose the cortect answer :
u% Searor IR Sferaedt:
% Gadb @R A13:

& ! ama g
[E WA :

/:./Which of the following is an irrational number ? 1
AT OEd (@A U AR 7

o @iq 7D Sefaom?
e e SFfSHE Ty ?
frefafaa 3 & i ot den srfda wem 7?2

(a) 0.142857142857142857 ......... (b)

(© m | (d)

/Aonsider the following pairs of linear equations : 1
i) 2x—-3y=8, 4x—6y=9

(i) 2x+3y—9=0, 4x+6y—18=0

Choose the correct alternative : ,

(@) The pair in (i) has no solution, whereas the pair in (i) has unique solution.

(b)  The pair in (i) has infinitely many solutions, whereas the pair in (ii) has no solution.
(c) The pairs in (i) and (ii) have no solutions.

(d) The pair in (i) has no solution, whereas the pair in (ii) has infinitely many solutions.
el (@fE ANSEIT @RERDT RasAr 347

(i) 2x—3y=8, 4x—6y=9

(i) 2x+3y—9=0, 4x+6y—-18=0

B R 3k Sfeed:

(a) (i) TIRCOI ST A1%, 759 (ii) TWRUO SROR S Wiy |

b) (i) TG ST STeAe TR SR, 8 () W s AR |

(€) (i) S (ii) TR @IFTIZ T 1R |

(d) (i) TWIRER A 1%, RRE (ii) TWRGE SN A4 S g |

= PSRN

C2-81-B20-GM [ Contd
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(3)

ﬁwm@fwﬁwmﬂﬂ@@%mm:
(i) 2x~3y=8,4x'6y=9
(i) 2x+3y—9=0,4x+6y—18‘0

¥y Gogt @@ T8 ¢

@) () oo e 7R, 78 ) TSI ety s o
(6 () ot w0 S, g (i) Tt s 2
© (i)tﬂﬁ%(ﬁ)‘ﬂﬁmmiw;{ﬁl

@ () coroifsy s 1, 8 ) TS o sre e sz

e ey SR 9 T T e

@) 2x—3y=8,4x—6y=9

(ii) 2x+3y—'9=0,4x+6y—18=0

e wrfE arra e |

(@) () S e, e (i) 1 TR Hgers

() (i)awﬁﬁasn%ﬂ%ﬁafﬂﬁwéﬂm(ﬁ)a'uﬁmwﬂm
(© (i) 3 (i) N ST HEHers 4

(d) (i)awﬁnﬁg‘mﬂm,mm(ﬁ)amwhaﬂ%wwmmm
fore Yfigs T ¥ i W A A

() 2x-3y=8, 4x—6y=9

(ii) 2x+3y—9=0,4x+6y—18=0

uﬁrawaﬁgﬁq:

@) o () 1 & T, i A (i) 1 O A & T

(b) T (i) F I T §, TF I (i) T HE T

() T (i) 3 (ii) A g & T

(d) T (i) FHE T T wh 7 (1) 5 N € ¢

3./'Phe product of the zeroes of 3x2+11x~2 is :
322 +11x—2 I A G0 T
322 +11x —2 -97 "I 5f6a 7ot
322 +11x —2 T i@’ WA S
352 +11x —2 % YA 1 TAGH By

3 2 11 _u
C2-§1-B20-GM
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(4)

4/’?}@26“‘ term of the AP0, =4, =8, —15 "y : .
‘ 0, —4, -8, =12, cccecreo.. B AtSTOIR 26-3K opegpy T ¢

0, —4, -8, —12, ... JWET H5If5TGg 26-BY o T

0, -4, -8 —12, . A Sty 26 fy gy ST :

AP0, -4, =8, =12, e, 1 26 3 47 gy

(a) -96 (b) -100 (© -—104 d —108

Let ABC be a triangle such that AB=(x~1) cm,  AC=2Vx cm, BC=(x+1) cm. Then: 1

(a) A=90° b) B=90°
(c) C=90° (d) none of these
ABC fags@ AB=(x—1) cm, AC=2Vx cm, BC=(x+1) cm| (OWX'T :
(@) A=90° (b) B=90°
() C=90° (d) @3EET Qb8 T
ABC fagts@ AB=(x—1) cm, AC=2Vx cm, BC=(x+1) cm | ©IR( :
(a) A=90° (b) B=90°
() C=90° (d) agER 9Fh3 97
ABC 3m@rf=rgmfd AB=(x—1) cm, AC=2Vx cm, BC=(x+1) cm 3¥& :
(a) A=90° (b) B=90°
() C=90° (d) SERMA AR TET
AABC &, AB=(x—1) cm, AC=2Vx cm 3R BC=(x+1) cm &,  :
(a) A=90° (b) B=90°
) C=90° (d) T Q FE o T
6. e point (x, y) is equidistant from the points (7, 1) and (3, 5). Then: 1

(x, y) Rt (7, 1) == (3, 5) R oI TSN | (TR
(x, y) Rl (7, 1) @32 (3, 5) g 7f6a TERIST | OIT -

(x, ) Taam (7, 1) 3R (3, 5) Ty AAATORTA THIT AN | 37 -
fiig (x, y) Toigall (7, 1) 3 (3, 5) & WA &1 A :

(@) x+y=2 (b) —x+y=2
€ x-y=2 o @ —x-y=2
7. Bcosec?A—8cot?A=7 1
(@ 0 b 1 (c) 8 d 16
C2-51-B20-GM [ Contd.
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(5)

which is 15 m 1

8. ,-kﬁ«'vr stands vertically on the gTOund. From a point on the ground, :
° er is found

. away from the foot of the tower, the angle of elevation of the top of the tow
to be 307 The height of the tower 1S :
fits B % SeRia g vr oNTE | BEIOE SRR o1l 15 O 1O gfirs 4! <ot
el weCia Al S C1 30° TR L& | O Too! T ¢
sfits wafh o8 Semena sfew 2| A AW @@ 15 RER qaeg g el
q#ft v s waiGa Meffaa S I 30° ofiaar o] BefGa Troot T
T T A A T g zﬁnﬁgﬁ:ﬁa’lﬁwqwﬁmﬁmwmw
R faifem rarf fafa famift St @ Awdh 30° /A S | 2R ST S
Ut W T AR iR w@E m-amraga,ehwamﬁgﬁlsmq{%,w
¥ faraR F1 3 B 300 %1 AR SEE 8

(@ 53 m b) 15V3 m € 15m @ 3™

:9/W-hich of the following statements is correct ?
(a) All circles are congruent. (b)  All squares are similar.

(c)  All isosceles triangles are similar. (d) All rectangles are congruent.
oaq (@00 Ofe BT 7

(@) SRETERER {8 T | (b) AN I6MR 7T |

() TR iaarz fagred S | (d) STCEIER SO, ST |
frore @W Sfeft 8w 7

(a) SRS @3 FM| (b) SRGTET IR TP

(€ SRS ey fagsR T (d) FRABTE ORI |
TR W s ddi ?

(a) TS SR TR |

(b) T et AR |

() TS TR s ST T |

(d) TS SR M |

frefafad s @ S @ © ?

(a) @t ga wafTEy B €

) @t e A

(0 it gmfgerg Fre ey 2t €1

(d) =it 3T wahTEE B ¥

C2-$1-B20-GM [ Contd
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(6)

ector is :

Wmmﬁm%ﬁjmma TSIADR gy grof 075

qafba v A1 G RGN 31t 6 1 qopeny el ST 0

gt e @' Ff a0 1 F@RIF vy sireenfy e

< forelt g % R T T B H G AR 03 ) fasergs 3 G =9 S A

%Fhe degree measure of the angle at the centre of 3 circle is 0. The length of an arc of the 1
s

Omr
® ® 180 © 3 @ 3
Where r is the radius of the circle.
'S 1 76 JEOE TP |
AT r 22T JS10d IPT |
e ¢ A S S W@ |
%l r g9 W B R
}Lﬁn‘oes each of volume 64 cm? are joined end to end. The surface area of the resulting 1
, cuboid is : '

ATSIFY SO 64 cm? RIFIE 701 973 7 o7 Aecatot 1 L] (BIATO S[BFifes '
ATONF SToT 64 cm?® AT g6 w=s sirmenfr e sterarst sar eefl, @b

AoSIfeT el :

HAHHET T 64 cm? T 97 SR@E! SEfUsl Sary PHSEAE S6E | S

AR Teni- fog Seemsforan S :

A T T ¥ U F S 64 cmd B, WA Hereh! ol fHeR T 3 SR S 1

THY VI T 6] JS1T SR §

(a) _ 48 cm? (b) 64 cm? (©) 80 cm? (d) 160 cm?
AZ./Thesum of the probabilities of all the elementary events of an experiment is : 1

QBT ~181T Tt A qoAIE e W 2'e

93f5 8T SRaTE A qoR IO TR = .

T AR e Tf SneshT S ST Sra |

ot s = it e wremedl 1 WiftERaTell 1 A ¥

(@) 1 (b) 1.25 (€ 15 d) 2

C2-81-B20-GM [ Contd.
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m>/
0 a4
W e /
\
"\% (7)

v " gecTION-B /3 - T/ -t g g/ - s

| i
13. Find the HCF and LCM of 6, 72 the20 Using the prime factorisation method. Is the 2
prodict of the numbers equal €0 1€ Product of HCF and LCM ?

/ ARfers BeATRIEIT Amocd o 72, 120 3 SL18. wire o7 o103, BTG | NLAHIDE
Afqerpet, 5118, - IR S T

e Getiaad dafors 6,72, 120 -T 943 &, @32 o718, @@ FET| ALVISEIR
sfgerge, ST, W3R A3 -3 AT ST §Y 2

e T Rt Sea 6, 72 120 2, an. @ sy g, an, . fegd | SATTABREA
TR 2, 3, | AR g 3. H. 7 AT o i

T 6, 72 3R 120 1 3 oES faf §RHCF 3ik LOM 3 Fifw | T GeEs &
WHCFWLCM%@W%W%?

14. 5 and 7 pens together cost ¥ 50, whereas 7 pencils and 5 pens together cost 2
% 46. Find the cost of one pencil and that of one pen.
5 it colfieeT ii% 75T Fend wIN QTeest 50 5, WiRireft 7 O coifBaT ST 501 FeTHa

QI QUEETCsl 46 DF | qote (oifie S1F b Femg wi e ?

sﬁcmaaeﬁwaawwsoﬁm,wﬁwﬁmﬁﬁms 56 et
QT YT 46 TraTl QG (AT @3 GF(G TR 0 TO ?

ﬁs&ﬁeaaﬂﬁ@ﬁqﬁaﬂmmsoﬂ;@mﬁﬂﬁwmm@ﬁmﬁa&
T S 46 T 11 Y S T W s ST ?

5ﬁaw7aﬁrﬁwg§a1{ﬂ?50%m7ﬁaam5mﬁfm§aamue%l kel

e e U1 Ueh e 1 ed F1d R
}R/How many two-digit numbers are divisible by 57 4t 2
ot ST eUrte Reitr 5 «ie Rsren? k
A
nfp SERER Pl AU 5 7Er Fess ? 4
T AT T SR T SsTes 5 o T 7
3 a1 areh R e 59 fawsg ¥
C2-81-B20-GM [ Contd.
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(8)

16. Fi e coordina.tes of thg point which diy; des the line segment joining the pointg 2
4, —3)and (8, 5) in the ratio 3 : 1 i.ntemaﬂy_

(4, —3) 1% (8, 5) famg stecarsh CW@asg;Iwmmﬁﬁg@wﬁWWWﬁw
T

@, ~3) 972 (8, 5) Frg @M @rges 3 . 1 ogoe SeREE #1 Fgla e
fefa ST

4, —3)%(8,5)ﬁmmmwﬁ3:1@wwﬁﬁﬁw
famm fegd |

3w fiig % T T A S fagell (4, —3) st (g, 5) F1 g A VEES FI AR T
¥ 3:1 37y ¥ fowifoa +at §

1(7.U4§A = 1—2—, calculate sinA and cotA. (A is an acute angle.) 2

ZTﬁsecA:%,smAWmtAﬁ‘fﬁﬁTl (A Qo1 PHEHIT)

T sec A = % sinA @32 cotA ffT Tl (A 93 THIT)

gfcrsecAz%,smAmCotA@ﬁgﬂl(Aaﬂ‘Hﬁ@WE’m)

I secA = ;_Z’ %asmaﬂxcommmmﬁiaaﬁmlmﬁm%)

y"' luate/Fi fiefa F11/w1+ fef F@1/HMH fegt/wm Frefer 2
5cosZ 60° + 4§ec2 30° — tan?2 45°
sin? 30° + sin2 60°
[ Contd.
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(9) 281025

M 4A = cosec (A—20°) find the Value of 5, (4A is an acute angle) 2
Tfit sec 4A = cosec (A—20°) AT T Rty 9 (4A 9By THI)
afi sec 4A =cosec (A—207) A - T ety (4A @3f5 i)
IS sec 4A =cosec (A—-20°), A fr A ﬁ@‘ﬂ (4A 31 /9 @'/ @)
¢ sec 4A = cosec (A—20°)r-aﬁ (4ATH T ) § 3 A 51 91 99 FHFIC

20. ve mat/wqﬁmlﬂqmm/wﬁmﬁ/ﬁiﬁﬁqﬁ: 2
— cosf
(cosech — cotﬂ)2 _ 1o«
1 + cos

21. card is drawn from a well-shuffled deck of 52 cards. Find the probability of getting, 2

(i)  a king of red colour

(i) a spade

ST frgeTrat 52 et ¥t Grid SRS o wf¥er Gify Sfeveat 24T -
(i) @b IBT TBF IO,

(i) @Ur XFF

iR Seifdet oy 347
Wwwmﬁmsﬁwmaﬁwmmmml
(@) @D eI BT AT

(M) @0 FHA

sfaa Seifde! fAefT |
ﬁa@aﬁﬁﬂmaﬁ%mszmﬁmﬁmﬁwﬁmww;

() 7T i T T

() T FH

ArArafy snemE &g |
szqﬁﬁ@mﬁﬁr&ﬁ@q@ﬁg@wﬁﬁmm%l
A

(@) e 1 SR

(i) TPH WA

fir=r =t wifereRan I1@

[ Contd.
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(10)
SECTION-C/ﬂ-W/ﬁ_W/“_mFﬁ/ﬂ—m

22. Prove that V7 is irrational.

’ AT AT @ V7 Seifaeny |
AT T (@ V7 SAfoR |
BIAM TreW S V7 31 Tsiienfy |
fag FifSa f V7 T st wer &

23. State the Division Algorithm for polynomials,

lvide the polynomial p(x) by the polynomial g(x), and find the quotient and the
remainder.

p(x)=x*-5x+6, g(x)=2—12

IS ersH waq [T Sy 31
P(x) IMTIF g(x) IRMCGIE 29 I, Wi IReeT SF ST Fiefa 57 |
p(x)=x*-5x+6, g(x)=2—x2

IR e T &GRS Sy s@r

p(x) IRAMTTEE g(x) T2 AT S AT 9IRGB @ SIS Yoy el |
p(x)=x4-5x+6, g(x) =2—=x2
| T e T e T
p(x) Terereriiaat g(x) faramamirarell T, ST TFTRY TR Ty figger |
p(x) =2 —5x+6, g(x)=2-12
ferviTer weviifees o @ 2
ferviem weiifee o1 i e, p(x) W g(x) N ST WIS qon Syt s SR

p(x)=x—5x+6, g(x)=2—x2

C2-51-B20-GM + " [Contd
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9 . '
24. A fraction becomes 11 if 2 is added to both the numerator and the denominator. If 3

[

. 5
3 is added to both the numerator and the denominator, it becomes 5 Find the fraction.

9
@ﬁ@ﬁmmﬂ@ﬁwaﬁ2mﬁ$ﬁﬁ€%@ﬁﬁ@| qfi o SN$ 29

5 .
ATSIPE F51o 3 T T 5, SATAO! ¢ T ot fefr w47

9
Lﬂﬁ@msmmmsxmwzmﬂwsﬁeﬁl—lﬂlHﬁ?ﬁtﬂaiﬂ

#fSToa 1o 3 @t wat =, @é]ﬁfﬁ%:m GﬂTQ"Iﬁﬁ"fﬁml
mmwmwﬁmwmmmm%ﬁu 3t o o
mﬁmﬁﬁﬁsmﬁéﬁmm@mgmﬁlmﬁgm

o e o=t 35 o e A 2@%1‘@13@?\?%%@3@%1 af st St
ﬁ3sngﬁmarq,a’raz§€rwﬁ%l a%fw—rala‘aﬁﬁm

25.  Solve/STHIIA 1/ T/ AEGeg g/ &t e : 3

3x2—2V6x+2=0

C2-S1-B20-GM | [ Contd.
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26.

(12)

Sum of the areas of two squares is 468 m2. [ the difference of their perimeters is24m, 3
- - sl L

find the sides of the two squares.
0T A5fTFad FIfETa et 468 m?2 | qﬁamﬁﬁﬁqﬁﬁm&ﬁﬁmli m, I5C%a o
ATSTHONE ey fef 7 |

qfS asfrstag wfea ansiwst 468 m2 | ﬂﬁamiﬁammz‘g‘m' fewg
yfoa arefoa ot fcfa s

A arfeae el ST 468 m? | fy swiges A GRATS I BRem
24 m, FiTees A FHEE e fg

21 a7l ¥ SRe B A 468 m2 ¥ | A I TR 7 iR 24 m &, T S A B I I

e 'gég

Mfﬂdiﬂat‘fs of a point A, where AB is a diameter of a circle whose centre 3
is (2, —3) and B is (1, 4).

Bt 39T BT AB | (FHF FAIS (2,.—3)WB3W$ (1,4)2’@,1-\3%%‘%@
ni < "‘17‘-

F4T

TG J087 BT AB | @UHR EAIE (2, —3) 932 B 9T FIF (1, 4) X0, A -7 TAE

fadfa st

TR SRt wen AB | el T R (2, —3) 3 B ey formn (1, 4) v A f

graf o fegai

fiig A % fodwis g Fioe, @l W AB TF T F o §, R 3 (2, —3) 3, aen fig

BR (1,4)1

C2-51-B20-GM [ Contd.
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28.  Find the sum of first 51 terms of an Ap Whose Second and third terms are 14 and 18

W

respectively.

BT SReT Aeifisr faok orie ol WEBT@CW14?5¢T$13| SIS TIATIF 20 5157 v

Mg @S ey 4T |

N,
—

3G AT Asifer fasw W32 Toi T @ 14 @32 18 | oie AT 4w

D

)

516 sig @msiws T et

B

wier g St 4 STt o P et e 14 o 15 rfn sy

51 feREmRM TeE feg |
34 AP & WoH 51 95| &I 4 ;
W= T HITE, o1 gt 3l dre 72 s 14 318 1 —
70 Y
5\ d
129. D and E are points on the sides CA and CB respectively of a triangle ABC right angled 3 t
C:-/a’c(-f. Prove that AE?+BD?= AB2+ DEZ2. l

ABC e fagsa £C CaiT | CA =% CB A17® Iier®i D o E 751 Ry | emret

P41 (T AE2+BD2=AB2+DE? |

ABC S fagts £C M| CA €32 CB A0 D 932 E IU@w g6 |

AT T T AE2+BD2=AB2+ DE? |

D 3 E 3N ABC G sTrafeer amfy ¢ o @Ifafd CA 1R CB f1 wmam e fard |

HIAM @™ € AE? + BD?= AB24 DR2 |

T TS ABC TSR 101 C Jorion 3, st sy CA 9t CB W 5hw: f8ig D &l E feea €1
' fag wifay & AE2+BD2=AB2+DE2%|

C2-S1-B20-GM g [ Contd.
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(14)

30.  Find the are; . . , ints of the sides of th
/)h( e area of the triangle formed by joining the middle PO I

‘//’ triangle whose vertices are 0, =1, (2,1) and (0, 3)

9Bt e My fofbia wmies (o, -1), 2, 1) w® O 3) | fapeb 17 fofittr
WHSTTeRD SieeTy T (ANl RagebiT w1y Shrad |

Q& ﬁﬂw %“i ISGILT] CAGIES (O, -1), @, 1) Qae (0, 3) | it‘ag@ib‘a q1Z %ﬂﬁ;’a
WY@ Aoy ded ANeA fagwita wif qr 3@

AR st fufa fa dhamfy armﬁmm(o,-n,(z,naaﬁ(o,sn rE gy
SR Sy SR o) et i sraifad T fog |

it (0, —1),(2,1)3?r<(0,3)arﬁﬁaaﬁwﬁ%qm—ﬁ@aﬁﬁmﬁmﬁﬁgﬁmm
T RITI |

P;Ad the area of the sector of a circle with radius 4 cm and angle 30°. Also, find the 3

‘ area of the corresponding major sector. (use w=3.14)

4 cm TGS IS QBT 30° 19T Q5T TR FIfeT fefy F4T | TS AR T
TN FIfer fefy T | (w=3.14 Ffe ¢f<t)

4 om TEHTE QTG J0a7 30° THLTA WHfG JTFI Ife fyef Fat ) ofeey SIgaet 43
Faeftr Fifer e Far| (m=3.14 T F@W)
4cm'€'@ﬁﬁﬂfﬁ’@?ﬁ?@ﬁ30°@'ﬂ1ﬁﬁﬂ@a@iﬁﬁmﬁﬁ-&§m Wﬁﬁ"—ﬁﬁ%{
A geER RE | (m=3.14 T )

4 e BT SR O 94 3 BRES 1 G W H, ot o 3008 e @, wa A
foreraie 1 AT TR IR (= 3.14 1 T Fifyg)

C2-S1-B20-GM [ Contd.
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SECTION - D /% = /¥ - 3t /%t _ it r - aqrm

32.  Solve the pair of equations by 764U them to a pair of linear equations. 4
e St afke eadta R8T B s
e sisaer oot e AT TSI S ST et |
TeTAF qHHens W gt FHHETE S Herer AT e |
it it % g =) s o 6 I § 95e W F T Hi

1 1
+
x+y 3x-y

=
4

1 _ 1
2B3x +y) 2(3x-—y)

-1
8

33. If ghe areas of two similar triangles are equal, prove that they are congruent.
qBr st frgea BT ST 2 CaT, ot it (o g o ST |
aff orpt fagrew Ffer AT 2@, et wear @, faget wft o |

B TR ST TR W ey, PRA G 18 STar-o e dear e
|

afe 2 guEd el & mmﬁmm@mﬁaﬁgﬁmmm

[ Contd.
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40 m
34 The shadow of a tower standing on a level ground is found to ]izwer. (Take 3= 1.732)
Sun’s altitude is 30° than when it is 60°. Find the h eight of the

MEA all the sides of a parallelogram touch a circle, show that the parallelogram is a thombus.

(16)
longer when the

i) 60° T Ry
W%Wemﬁaﬁ%mﬁ‘rm%@ﬁ@aﬁ(m ot el 3
Reer 7@, BoF (@I9 30° 77 ST 40 m @y GeaeT 20 | L
(V3=1.732 3fe1 4fedt)

1ot 60° T T A =,

WWGW%@WTQWWWﬂTW@gﬁ@WI

THT @I 30° 30T BIF (AT 40 m @R B ) @sfBd /
! A~

(N3 =1.732 J0eT 4AR) /

T AT T T 2R W e s (S @) 60° s 30° ST

40 m =T || Wﬁﬁ"fﬂﬁ@‘lﬁgﬁl(m:Lmz{ﬁﬁ el

@maaanﬁm@a}uﬁmﬁmwﬁaﬁﬁmmmfﬁﬁﬁwﬁ%m@m
I 60° | THL 30° B S § ﬁﬂnﬁ:‘ﬁggﬁmﬂﬁql(«l%l%zmmaﬁﬁqo

Tf Bt TefEeT SBRE@EET W GG J8F ~orf FE, Y&l (@ AMBIIFE! Qb iR |

afi &l Tefitea TRSE IR 9H /@ = F@, e @, At 9 i

I |
qﬁmmmmﬂmmmm,mﬁmmm,

fog: Fiforg i ferelt 9 % oftr weied TG T g &

C2-51-B20-GM C [comd
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. - IVeN ty 5
fwmﬂ a triangle similar to @ 87 tiangle ABC with its sides equal to 5 of the 4

corresponding sides of the riangle ABC. (Write the steps of construction.)

?ﬁg

aﬁrﬁﬁ‘@ﬁ@ﬁﬁcamwmﬁwmﬁﬁmmmﬂcw

Wﬁmgeqﬁml (TP HETY fofdr )

«3fE fffe fage ABC -a7 7T O 931 fags: o et aite @7 ARSCE ABC

fagSia Sg@e ISR % &R T »| (SFAR A rmestet i)

By for sTEfere ABC Fi WeG ST ) T T ST e erd A e

ABCMWWMWW%W%Wl (3nfEE MTeRE! fer 1)

T R T P ABC % T e frege ot Tl AT Rt e B ABC % W

T bt gz’h (T & Rl ) Frfigw )
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SECTION - E /& - =31 /g ‘W/@-W’ﬁ/g-m

i ion i i f radius
37. Fipd the area of the shaded region in the Jow, where a circular arc o 5
cm has been drawn with vertex O of an E:;eﬂ:feral triangle OAB of side 12 cm as
centre.

oere foae SRt BT Ff iy w31 1'c 12 cm AZT QBT AR fageE
W0$mmﬁﬁﬁ6cmmqﬁmmﬁﬁ?ﬁml

Frarrs fota wmmifits w=eTie SR Fify o qrar 12 cm A28 9310 TR fagrew
TRy O & @4 R 4 6 cm AP Qo g8 B ST IR

ﬂmﬂﬁmﬁwﬁmé\ﬂmmﬁwﬁﬁ@,maucmmﬁﬁﬁéiﬁam
sraforemafy fafaft i O @ firs femmd o 6 o @ @A A SEATR SR SR
&

pfer B SHITHA W 1 STEA 1A FIY, T o 12 oo Tt T TG BIYst OAB & e
oﬁhmaﬂecmﬁmamw?ﬁﬁwmmw‘%l

OR / «f%at / S431 /T / 3reraw
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A toy is in the form of a cone of radius 35 mounted on a hemisphere of same 5

radius. The total height of the t0y i 155 em. Find the total surface area of the toy.

1 oot 9T FPHYS @B TR o1 3.5 o qypregs @Bt HegTE AP |
STIET § Toow! 27 155 cm | TOTGR g sppuifer ey 531 |

9%f cuort @k aPYE 9 TN @oreg 3.5 cm s @l 5 AT
S| A 15 Gt T 155 cm | et G spber fie <

R I 3.5 cm W ETE R AR S T W i wreeRf S S T |

BT TR Seg 15.5 cm | RN T Ty Teemsyr fieg

T fEeli 3.5 cm B a6l T WF & R & 8, St 36 foen 9@ TF e W

FEifT §1 79 e % wq S 155 em ¥ 79 Faely w1 gl g dwe

HISY |

38. The median of the following data is 525. Find the values of x and v, if the total frequency 5 |

is 100: 8
\ BT TN T°E 525 | x WIF y § W Sfersdt afi g3 q1e1wet 100 |
- fACE BRI TYWT RCeT 525 | x 998 y -9d N @ @ i @I I9LIIe! 100 27|

TS B W I e 525 | x 3R y 1 7 g it m& e 100 S
frefofiaa el 1 Teas 525 ¥ AfE SReRasii &1 3W 100 §, @ x X y &1 7 I
T |

Class interval |0-100({100-200200-300 | 300-400 |400-500|500-600 | 600-700|700-800800-900 | 900-1000 | 800-900 |900-1000

1t SR ater

AT SR le

R W

1 S

Frequency 2 5 x 12 17 20 y 9 7 4 7 4

IRQS!

KEKEO)

-000-
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